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QUESTION 1 
 
1.1 

( )

( )

( )

2 2

1
2 2 2

1
2 2 2

2 2

1
2 2 2

2 2

2 2

2 2 2 2

2 2

2 2

2 2

1 .2
2

1 . 2
2

z x y

x y

z xx y x
x x y

z yx y y
y x y

z z x yx y
x y x y x y

x y
x y

x y

−

−

= −

= −

∂
= − =

∂ −

∂ −
= − − =

∂ −

∂ ∂ −
+ = +

∂ ∂ − −

−
=

−

= −

 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  (3) 

 
1.2 1.2.1 

  

6cos 6sin

6sin 6cos

6cos cot
6sin

x y
dx dy
d d
dy dy d
dx d dx

θ θ

θ θ
θ θ

θ θ
θ

θ θ

= =

= − =

= = = −
−

 

  
 
 
 
 
 
 
 
 
  (2) 

 
 1.2.2  

2
2

2

3
3

1cos
6sin

1 1cos or   =
6 6sin

d y d dy d ec
dx d dx dx

ec

θ θ
θ θ

θ
θ

 = =  − 

= −
−

 

  
 
 
 
 
 
 
 
 
 
  (1) 

    [6] 

  

 

 

  

 

 

 

 

 

  

𝑍𝑍 = �𝑥𝑥2 − 𝑦𝑦2  ⇒ 𝑍𝑍2 = 𝑥𝑥2 − 𝑦𝑦2 
⇒ 2𝑍𝑍 𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
= 2𝑥𝑥      

 
⇒ 𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
= 𝑥𝑥

𝑍𝑍
= 𝑥𝑥

�𝑥𝑥2−𝑦𝑦2   
 
 2𝑍𝑍 𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
= −2𝑦𝑦   

 
⇒ 𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
= − 𝑦𝑦

𝑍𝑍
= −𝑦𝑦

�𝑥𝑥2−𝑦𝑦2   
 
∴ 𝑥𝑥 𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
+ 𝑦𝑦 𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
= 𝑥𝑥2

�𝑥𝑥2−𝑦𝑦2 − 𝑦𝑦2

�𝑥𝑥2−𝑦𝑦2       
 
                      = 𝑥𝑥2−𝑦𝑦2

�𝑥𝑥2−𝑦𝑦2      
 
                      = �𝑥𝑥2 − 𝑦𝑦2 
 

𝑥𝑥2 + 𝑦𝑦2 = 36𝑐𝑐𝑐𝑐𝑐𝑐2𝜃𝜃 +
36𝑠𝑠𝑠𝑠𝑠𝑠2𝜃𝜃 = 36  
 
⇒ 2𝑥𝑥 + 2𝑦𝑦 𝑑𝑑𝑑𝑑

𝑑𝑑𝑑𝑑
= 0  

 
⇒ 𝑑𝑑𝑑𝑑

𝑑𝑑𝑑𝑑
= − 𝑥𝑥

𝑦𝑦
= − cos 𝜃𝜃

sin 𝜃𝜃
=

− cot 𝜃𝜃  

𝑑𝑑2𝑦𝑦
𝑑𝑑𝑑𝑑2 =

−𝑦𝑦+𝑥𝑥𝑑𝑑𝑑𝑑
𝑑𝑑𝑑𝑑

𝑦𝑦2   
 
       = −6 sin 𝜃𝜃+6 cos 𝜃𝜃(− cot 𝜃𝜃)

36𝑠𝑠𝑠𝑠𝑠𝑠2𝜃𝜃
 

 
       = −6 �sin 𝜃𝜃 + 𝑐𝑐𝑐𝑐𝑐𝑐2𝜃𝜃

sin 𝜃𝜃
� ÷ 36𝑠𝑠𝑠𝑠𝑠𝑠2𝜃𝜃 

       = 1
6𝑠𝑠𝑠𝑠𝑠𝑠3𝜃𝜃

 
 

 
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QUESTION 2 
 
2.1 2 2

2 2

2 2

3

(1 tan 3 )(sec 3 1)

sec 3 tan 3

1 3sec 3 tan 3
3
1 tan 3
3 3

ydx x x dx

x xdx

x xdx

x C

= + −

=

=

= +

∫ ∫
∫

∫
 

 
Alternative  

( )( )
( )

2 2

2 2 2 2

3

3

1 tan 3 sec 3 1

sec 3 tan 3 sec 3 1 tan 3

1 1 tan 3 1tan 3 tan 3
3 3 3 3
1 tan 3
3 3

ydx x x dx

x x x x dx

xx x x x

x C

= + −

= + − −

 = + − − − 
 

= +

∫ ∫
∫

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  (2) 

 
2.2 1 1

2 2

1 2 2
22 2

sin ( ) sin ( ) 1

( ) ( )
1

sin 1
21

ydx bxdx f x bx g x

bf x g x x
b x

b dux bx x dx u b x dx
b xb x

− −

−

′= = =

′ = =
−

= − = − =
−−

∫ ∫

∫

 

1
2

1
1 2

1
2

1

sin
2

1sin
2

1sin 12
2

b dux bx x
b xu

x bx u du
b

ux bx C
b

−

−−

−

= −
−

= +

= + +

∫

∫  

1 2 21sin 1x bx b x C
b

−= + − +  

 
 
 
 
 
 
 
 
 
   
 
 
 
 
 
 

  (5) 

  

Or using u = tan 3x  

 

 

 

 

  

  

 

  

 

 

 

 

 
  
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2.3 

( ) ( )

2 2

2

2 2

6 6

6 9 9

3 9 9 3

x x x x

x x

x x

 − = − − 
 = − − + − 
 = − − − = − − 

 

( )

( )

2

2
1 2 2 2

1 2 1 2

9 3

sin formula used
2 2
9 3 3 9 3 3sin 9 ( 3) or sin 6
2 3 2 2 3 2

ydx x dx

a bx x a b x C
b a

x x x xx C x x C

−

− −

= − −

= + − +

− − − −
= + − − + + − +

∫ ∫
 

Alternative: ( )
2 22

24 0 36 6 9 3
4 2 4 2

ac b ba x x x
a a
− −   + + = − + = − −   − −   

 

 
 
 
 
 
 
 
 
 
 
 
 
 

  (4) 
 
2.4 
 
 
 
 
 
 
 
 
 
 
 
 

2
4 2

2
2

2

3 3cos cos
2 2

1 1 1cos3 or (1 cos3 )
2 2 4

1 1 1cos3 cos 3
4 2 4

1 1 1 1 sin 6. sin 3
4 2 3 4 2 12
1 1 sin 6 3 1 sin 6sin 3 or   = sin 3
4 6 8 48 8 6 48

ydx x dx x dx

x dx x dx

x x dx

x xx x

x x xx x C x x C

    = =        

 = + +  

= + +

 = + + + 
 

= + + + + + + +

∫ ∫ ∫

∫ ∫

∫  

 

 
 
 
 
 
 
 
 
 
 
 
  (4) 

 
2.5 

{ }

tan ln sec

tan ln sec using ( )   and  ( ) tan

( ) 1 ( ) ln sec

ln sec ln sec ln sec

ln sec

ydx x x x dx

x xdx xdx f x x g x x

f x g x x

x x xdx xdx

x x C

= +

′= + = =

′ = =

= − +

= +

∫ ∫
∫ ∫

∫ ∫
 

 

  (3) 
  [18] 

  

   

 

  

 

 

 

   

  

 

 

Use integration by parts for the first 
integral only 

  

 

 
  
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QUESTION 3 
 
3.1 

 

( )
( )( )

( )( )

( )( ) ( )( ) ( ) ( )

3 2 2

3 2

2 6 2 6

2 3 2

3 4
2 3 22 6

3 4 2 3 2 2 2 3

3 3 3 3 3when 3 4 . 2
2 2 2 2 2

33 21 33 11
4 4 21 7

5when  2 5. 2 .2.(4 3) 10 14
7

when 0 1

x x x x x x

x x x

x x A B C
x x xx x x

x x A x x Bx x Cx x

x B

B B

x C C C

x

− − = − −

= + −

+ −
= + +

+ −− −
+ − = + − + − + +

    = − − + − − = − − −    
    

− = ∴ = − = −

= − = + − = ∴ = −

= − 2 .3( 2) 2A A= − ∴ =

 

( )( )
3 2

511
3 4 2 77

22 6 2 3

11 1 52ln . ln(2 3) ln( 2)
7 2 7
11 52ln ln(2 3) ln( 2)
14 7

x x dxdx dx dx xx x x x x

x x x C

x x x C

−−+ −
= + +

−− − +

= − + − − +

= − + − − +

∫ ∫ ∫ ∫

 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  (6) 
 
3.2 

  

2

2 2

2 2

3 16 26
( 2)( 3 4) 2 3 4
3 16 26 ( 3 4) ( )( 2)
when 2 12 32 26 (4 6 4) 70 14 5
when  0 26 (4) ( 2)

26 20 2 3
when   1 3 16 26 (1 3 4) ( )( 1)

x x A Bx C
x x x x x x
x x A x x Bx C x

x A A A
x A C

C C
x A B C

+ + +
= +

− + + − + +

+ + = + + + + −
= + + = + + = ∴ =
= = + −

= − ∴ = −
= + + = + + + + −

    

45 8
45 40 3 2

A B C
B B

= − −
= − + ∴ = −

 

2

2 2

2

2

3 16 26 5 2 3
2( 2)( 3 4) 3 4

5 2 3
2 3 4

5ln( 2) ln( 3 4)

x x xdx dx dx
xx x x x x

xdx dx
x x x
x x x C

+ + − −
= +

−− + + + +

+
= −

− + +
= − − + + +

∫ ∫ ∫

∫ ∫

   

  

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 
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 Alternative  

2

2 2

2 2

3 16 26
( 2)( 3 4) 2 3 4
3 16 26 ( 3 4) ( )( 2)
when 2 12 32 26 (4 6 4) 70 14 5

x x A Bx C
x x x x x x
x x A x x Bx C x

x A A A

+ + +
= +

− + + − + +

+ + = + + + + −
= + + = + + = ∴ =

 

2 2 2

2

Expanding 3 16 26 3 4 2 2
Equating  3 5 3 2
Equating  3 2 16 3(5) 2( 2) 16 3

x x Ax Ax A Bx Cx Bx C
x A B B B
x A C B C C

+ + = + + + + − −

+ = ⇒ + = ∴ = −
+ − = ⇒ + − − = = −

 

2

2 2

2

2

3 16 26 5 2 3
( 2)( 3 4) 2 3 4

5 2 3
2 3 4

5ln( 2) ln( 3 4)

x x xdx dx dx
x x x x x x

xdx dx
x x x
x x x C

+ + − −
= +

− + + − + +
+

= −
− + +

= − − + + +

∫ ∫ ∫

∫ ∫                                                                                                    

 

  (6) 
  [12] 

 
 
QUESTION 4 
 
4.1 

 

1
ln

1

ln

ln(ln )

1

  or using ln

(ln )
1

ln

dxpdx x x

x dx
x

x

e e

e u x
e

x

x

−

−

−

−

∫∫ =

∫= =

=

=

=

 

1 1
ln

1

or using ln as before
ln

pdxQe dx dx
x x

x dx u x
x

∫ =

= =

∫ ∫

∫

 

ln(ln )
1 ln(ln )

ln
2 0 0 ln(ln 2) 0,367
1 ln(ln ) 0,367

ln

x

y x C
x

x y C C

y x
x

=

∴ = +

= = = + ∴ =

∴ = +

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 (6) 

  

 

  

 

 

  

 

 

 

 

 

 

 

 

 

 

 

  

 

 

  
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  [12] 
 
 
QUESTION 5 
 
5.1 5.1.1 

 

 

 

  (2) 

4.2 2
3

2

2

3 2

3

6 2

6 0
( 3)( 2) 0

3 2

For  ...........(1)

x

x x
c

x
p

d y dy y e
dx dx
r r
r r

r r
y Ae Be

y y Cxe

−

−

−

+ − =

+ − =
+ − =
= − =

= +

=

 

3 3

2
3 3 3

2

3 3

2

2

3 3 3 3 3 3

3 3

3

3. 3 3 3

9 6

Substituting , and in  (1)

9 6 ( 3 ) 6 2
25 2
5

x x

x x x

x x

x x x x x x

x x

dy Cxe Ce
dx
d y Cxe Ce Ce
dx

Cxe Ce
d y dy y
dx dx

Cxe Ce Cxe Ce Cxe e

Ce e C

− −

− − −

− −

− − − − − −

− −

= − +

= − − − −

= −

− + − + − =

− = ∴ = −

 

3

3 2 3

2
5

2
5

x
p

c p

x x x

y xe

y y y

y Ae Be xe

−

− −

∴ = −

= +

= + −

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  (6) 

3 1If used 2  follow up to get 
5

xy Cxe C−= = −  

 

 
 
 

 

 

 

 

 

 

 

 
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 5.1.2 

( ){ }

( ){ }

{ }

[ ]
( ) [ ] [ ]

2 2
1 2

2 2

0

2 2

0

0

0

3

( )

1 sin sin

1 2sin sin sin

1 2sin

2cos

2cos 0 2cos0 2( 1) 2 4

22,4360units

b

x
a

V y y dx

x x dx

x x x dx

x dx

x x

π

π

π

π

π

π

π

π

π

π π π π π π π

= −

= + −

= + + −

= +

= −

= − − − = − − + = +  
=

∫

∫

∫

∫  

 

  (5) 
 

 5.1.3 

( )

( ){ }

( ){ }

1 2
1 2

2 2
1 2

2 2

0

2 2

0

2
2

( )

1 sin sin

1 2sin sin sin

b

m y
a

b

a
b

a

V rdV

y y x y y dx

x y y dx

x x x dx

x x x x dx

π

π

π

π

π

π

− =

+
= −

= −

= + −

+ + −

∫

∫

∫

∫

∫

 

{ }

( )
0

1 2sin using integration by parts: ( ) ( ) 1 2sin

1 ( ) 2cos

x x dx f x x g x x

f x g x x x

π

π ′= + = = +

′ = = −

∫  

 

( )

0

2
2

0

2 2
2

4

( 2cos ) 1.( 2cos )

( 2 cos ) 2sin
2

( 2 cos ) 2sin 0 2
2 2

35,2423units

x x x x x dx

xx x x x

π

π

π

π

π ππ π π π π π π

 = − − − 

  
= − − −  

  

    
= − − − − = +    

    
=

∫

 

4

3

35,2423units 1,571units
22,4360units

m y

x

V
x

V
−= = =  

 

  (6) 

  

  

 

 

   

 

 

 

 

 

 

 

 

 

 
 

 

  

 
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5.2 5.2.1 

 
 

 

 
    (2) 

 
 5.2.2 

( )

1 2

3

1
3

1

3 3 1 1

2

( )

17,0492units

b

a

x x

x x

A y y dx

e e dx

e e

e e e e

−

−

− −

= −

= −

 = + 

 = + − + 
=

∫

∫
 

 

  (2) 

 

 

 

 

 
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 5.2.3 

( )

1 2

3

1

3

1

( )

( ) using integration by parts:  ( ) ( )

( ) 1 ( )

( )

b

m y
a

b

a

x x x x

x x

x x x x

A rdA

x y y dx

x e e dx f x x g x e e

f x g x e e

x e e e e dx

−

− −

−

− −

=

= −

′= − = = −

′ = = +

 = + − + 

∫

∫

∫

∫

 

( ) ( ) ( )
{ }

3 3

1 1

3 3 3 3 1 1 1 1 3 3 13 3 2 4 2

39,6345

x x x x x x x xx e e e e x e e e e

e e e e e e e e e e e

− − − −

− − − − − −

   = + − − = + − +   

   = + − + − + − + = + −  
=

 

39,6345 2,325units
17,0492

m y

x

A
x

A
−=

= =
 

 

  (6) 
 
5.3 5.3.1 

 

 

  (2) 

  

 

 

 

 

  

 

 

 

 

 
 
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 5.3.2 

( )
5

2

1
5

2

1
5

2

1
53

2

1

3
2

2

4 3

4 6 9

5 6

5 3
3

5 15(5) 3(5 ) 5 3
3 3

10,667units

A x dx

x x dx

x x dx

xx x

= − −

= − + −

= − − +

 
= − − + 
 

  = − − + − − − +    
=

∫

∫

∫

 

Alternative 
 

( )

( )

5
2

1
53

1

4 3

3
4

3

8 820 4
3 3

10,667

A x dx

x
x

= − −

 −
= − 
  

 −  = − − −    
=

∫

 

 

  (3) 
 
 5.3.3 

( ){ }

{ }

{ }

2

5
22

1
5

2 2

1
5

2 4 3

1

4 3

5 6

5 6

b

y
a

I r dA

x x dx

x x x dx

x x x dx

=

= − −

− − +

= − − +

∫

∫

∫

∫

 

55
3 4

1

5
3 4

4

5 6
3 5 4

5 5 3 5 1 3.5 5
3 5 2 3 5 2

104,533units

xx x
 

= − − + 
 

  = − − + − − − +    
=

 

 

  (4) 

  

  

 

 

 

 

  

  

 

 

  

 

 

 
 

 

 
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5.4 5.4.1 

 
 
 
Alternative  (with x-axis  drawn at the water level) 
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 5.4.2 

( )

( )

( ) ( )

1 1

3 0 3slope of the right edge  
4 2 2

using(2;0)
3 2
2
3 3
2
2 43 length of strip 2 3
3 3

m

y y m x x

y x

y x

x y x y

−
= =

−
− = −

= −

= −

= + ∴ = = +

 

( ) ( )

{ }

3

0
3

2

0
33 3

2 2

0
3

first moment of area

45 3
3

4 2 15
3

4 4 315 3 15.3 0
3 3 3 3

60units

b

a

rdA

y y dy

y y dy

yy y

=

= − +

= − +

   
= − + = − + −   

   
=

∫

∫

∫
 

213 3,55units
60

y = =  

 

 

 
  Altenative: 

( )

( )

( )

( )

1 1

2 5 3slope of the right edge  
4 2 2

using(2;-5)
35 2
2
35 3
2

2 8
3

4length of strip 2 8
3

m

y y m x x

y x

y x

x y

x y

− +
= =

−
− = −

+ = −

+ = −

= +

= = +

 

 

  (4) 

  

 

 

  

 
 

 

 

 

 



MARKING GUIDELINE -15-  
MATHEMATICS N6 

Copyright reserved  Please turn over 

( )

( ) ( ) ( ) ( )

2

5
2

2

5
23

2

5

3 3
2 2

3

first moment of area

4 8
3

4 8
3

4 4
3 3

2 54 4 2 4 5
3 3 3

60units
213 3,55units

60

b

a

rdA

y y dy

y y dy

y y

y

−

−

−

−

−

−

=

= +

= +

 
= + 

 

  − −  = + − − + − 
    

= −

= = −
−

∫

∫

∫

 

 
 5.4.3 Y=213

−60
=  −3,55𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢𝑢    (1) 

  [40] 
 
 
QUESTION 6 
 
6.1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2

2

2 2 2

2 2 2

2 4 2

0

4

1

2 1
4 2

1
2 4

41 1
4 4

4
1

2

b

a

yx

dxS dx
dy

dx y y
dy

dx yy
dy

dx y y
dy

ydx dx dx
dy

=

 
= +  

 

= =

   = =   
  

  +
+ = + = 
 

+ 
+ = 
 

∫

∫

 

{ }
{ } { }( )

{ }

4
2 2

0

2 2

1 44 ln 4
2 2 2
1 4 4 4 2ln 4 4 4 0 2ln 0 0 4
2 2
1 2 20 2ln 4 20 2ln 2
2
5,916units

y y y y = + + + +  

 = + + + + − + + +  

 = + + − 
=
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6.2 

2

2
2

2

2

2sin

2 1

2cos

1 1 4cos

2 2sin 1 4cos 2cos 2sin

b

x
a

x

y x

dyA y dx
dx

dy x
dx

dy x
dx

duA x xdx u x x
dx

π

π

π

π

=

 = +  
 

=

 + = + 
 

= + = = −

∫

∫

 

{ }

2

2

2
2

0
2

2 2

0

follow up if used cos
2sin

2 2sin 1 4cos 2cos 0
2sin 2 2

2cos 2

2 1

12 1 ln 1
2 2

dudx u x
x

dux x x u
x

x u

u du

u u u u

π

π

π ππ

π π

π

π

−

−

= =
−

= + = = =
−

= = = −

= − +

 = − + + + +  

∫

∫

 

( ) ( ){ }
{ }

2 2

2

2 1 12 1 2 ln 2 1 2 0 ln1
2 2 2

12 5 ln 2 5
2

18,585units

π

π

−  = − + − + − + + − − +    
 = − − + − +  

=
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